


- EFIRI G

R SHRIGISTHACILEIA: (2.R.R9) — T
3 HH 3(3)%[ 9: | 91 IS 3T FIS: IS G: I HHI 8-
&rel- @dw &1 |
e fufcl Ffd % | o1: Gaul x| I &: g4 I9: |

R A (2.R.¢) — TR

Wﬁﬂ%d?leq T ] TeliEd o /3T S ¥9a= 989
Iqfad |

ST ael: 90 | Z¥ 9 fd = Zmeid |

MO e Ehadg: - 020




ST-F= T« FAT(T

R TTEGE: (2.].]%) — T

eaTiay TIRTY €Y SR {eeTel: o Iedg: & |
R AT (2.R.30) — @M

dleaTicy TINTY LY STIEI (FeT=: 37 STeasg: &1d |
R THER: @RA: (2.R.32) — €0

I~ JUH] GHTRId AR |: 3 ERAEg: S,
R TN ISR, (2.R.3R) — TR

o a:l_la“\:\l_ ¢ o | Qg o |

T e Ehadg: - R020




ELAE R A B -bc:ﬁn:
AM(3) 3M(B) =1(3)
/\ [\ \

3T(3) (3 )a_r(a)e_f( )

ar{a)aﬁs)
\L




XR, g3, F- 2
R G — 2R
®RT S, T I - ¢

I e

L X 4




R T &Y (2.9.20) — T
gt FYEg ©d_ |
Il ESESH: |
R TN IT& (2.9.2¢) — =M
HIF1 I &6 IpedE S0 |
TS AT e ST |
R SE T (2.8.93) — @
el = sl T |

MR aEhaqg: - Ro%0




R GiTe~d UaH (2.9.2%) — Gl
g e = 9gds & |
o | Hqld |




N\ ®

IGRIRISE

R TR (2.9.48) — SRR
Y (2.9.29) S T (F4TaT: SR |
T AT | (4Td T |

R FEAIST (2.8.49) — T
HAFHAN: G Tarads: &: |

MO e Ehadg: - 020




R IGT: (2.9.4¢) — Gl
\ R R ~\ °
qaqaamﬁ:lw : OTed: \qTaeE: o |
319, §¥, 7, 919, ¢4, Y, 39, g¢, 4, *Trg, 4, 1

o\

maﬂqaﬁ\@e\,—c{,aﬂ%qﬁrmw
WLW(QXRQ)—W

R TTIci=] (2.%.8°) — Tl
Te: PRI e & |
FITAIIEE: |

MR aEhaqg: - Ro%0




R T Tferr: Al (2.2.20%) — G
ammmmm qrelr: m 1d |
WWITLI

R [AHISTHH (2.9.220) — €Ml
UG STTEEET: &1 |
Tl e |




o\ N
HiEATHI: - IR
5 — IS

R B Ui Hld TE (5.2.92)
R GiRd™H (§.2.9R) — STferRR:
IR GEHaST (&.2.24¢) Thwd TR |
R Y T (5.2.93) — [l
A ¥ W PINH: T1d GRarad |
A + Sl = dd + Al = A= (|
R SIS (&.2.9%) — Tol:
Tl & W Jd &0d |
3 J:\l%ﬂ?{: aﬂiu%aa: ajﬂ%baa
HI+Ted = HId [¥ed = HIsad.

MO e Ehadg: - 020




L X 4

INH

mﬂﬂh(ﬁ.%.@‘\)—ﬁﬁl:
TeTd @ W JF S|
9 + [¥Td = =d [9d = Ar=2ad |

R UEI~TET (&.2.98) — faIfer:
TeTd YSTedTd, & W P a1 &1 |
FEHI+ BT = SeH=DHT / SEHBHT |

MRS HERdag: - R0%0




H{HAY: - YU

(NI N

R ThI JUTH (&.2.99) — fafur:
h: T 901 &1 1 Eiedri e |
Gl + U = FHI:

W+ = AR
Tq+370: = YTt
4+ TR = BIRId:




\

YleddledlqA

R THISTAME: (§.2.9¢) — fafu:
T: FHHIG I-T-ATG-3Md U ¥ A
&+ U =8
fasIl + @ = fosurg

A+37R: = A9
ql+37h: = qah:
R Tl [ T (&.2.9%) — faTeT:

SN S

TR T I STadl: 379-379 Tdl &
M+ = A, A + T = A

T e Ehaeg: - R020

L X 4




L X 4

YleddledlqA

S—

GR I SEHEEATH, ()
St JlcrRTeg, T ITRISEITITE IR I ezl T |

M + Iicl: = TH[:

GR STATNHATI F (q)
AR TRATOTEEN TS Jfozred T TMRIgEget SiHe
HdTqRl: H(d |

o

M+g(d: = IH[d:

MG hadg: - R0%0




\

ATeaaTlcR:

R AR (&.2.¢0) — F+Em:
AME! T I Tl =g Thedleal: dfe arsrHaead |
3l + 9 = FA, ITRISI+9 = VTZIASHA
g — +ITd = 3, M+39d
R TS TR (§.2.¢2) — et (Frdma=m)
&1d 2T &TEH, Sig 2 FEH |
R Y (5.2.¢R) — fafer: (Ferama=m)
Shell(: SHIUIGR I FEIT AT SR e |
R THITA T g (8.2.¢3) — [T (FTH)

MO e Ehadg: - 020




\\

hlgRl:

R T GEIEAT: (§.2.¢%) — SRR
o I (5.2.222) TATATHMERR:
R TG (&.2.€4) — AfdG:
TSTHRICAT: G: JeEd STeciad, I SAad &0 |
T + 33T = T A/ TR
R TAJRINEE: (§.2.¢8) — S(cIaT:
S i | il THIGRRITGRIGE & |

I e EERaag: - R020




L X 4

QIU'[

R STEUT: (&.R.€9) — ferfer:
UG T W TR IOT: SATGET: T |
Y+ = U
T3 = Ta:
THT+3CHRH = Jlﬁhoh&
FE + Fhg: = W
dI+SEHRI: = ddh:




N\

dha:

R Jhe (5.2.¢¢) — TaTT:

IS W g THTET: &0 |

FE] + Tehcd¥ = FUheaH,

TTET -+ 3 = TFE:
S+ = A

FI+ 3T IHISTH = FINRISIH,




N\

dha:

R THITSY (&.2.¢R) — falT:
SAUNE TN THael: S 9 TN Jrachiear: & |
S9+T(d = IUfd
I+ Ted = IqHd
TE+FE: = TUIE:
R G ATHIEEITH,_ (aT) — fafu:
HET+Ffeel = AR
R SIGRTT: (aT) — fafe:
o + 3 = @
& + 3R = @R,

MO e Ehadg: - 020




q+ Ja: = Hl|
U+3a: = UiS
J+Jle: :ET\T%
ISERSK :f\lﬁl

U+ TS: = U

E




N\

dha:

R T- TN -FHS-TG-RMUTIT (aT) — fafer:
S+ IR = T
T4 SRUTH = TaUTH
FAS+SRUMH = TS
TEH+-5RUTH = FEUH
32N + 0 = ZAM0T: / 0N
ST -+ 0T = SROTOH
R IEH (&.2.%0) — fafur:
AN A W I(G: ThHIGI: T | M+393d = T=ad.

TG HeRaeg: - Rogo




N\

dha:

R JTEITEI | (5.2.22) — fafer:
IUTATE, ITERTIE FHHRNIE! Wt TN Ihg: THICRT: T |
q + FEwsId = Qlﬂcr\la
S9+3E=SId = JUTII
R 91 GATURTS: (&.2.8) — fafer:
IAUTTTE ITNE FRNIG! Gl T Ihg: THIST: 91 T1d |
q+ ﬂ ~ = ¢ ﬂ ~ / S ﬂ ~
IY+EHRNA = TR / SR

MRS HERdag: - R020




R TS TUETH (8.2.%%) — fafu:
R FHAATCY &Y =44 (A7)
R SATHTSTH (§.2.9%) — fai:
R TGN (&.2.%&) — fT:
R 3T IO (5.2.R9) — fafar:

R SRR 3l (5.2.¢) — fafer:
o HcaHTEITEd 2T (5.2.200) — fafu:

MG EEhaeg: - Rogo




R h: TEU] S1El: (5.2.209)

R Tg: GGIIgid (5.2.20%)

R G foRqTe 7 (5.2.23R)

R IS ThHIETTTH (§.2.2%3)

R 35 T (8.2.9%)

R AR 3 I (8.2.23%)

R HISTAU] FMHeT e T (8.2.2R9)
R | GH (a)

R i = (an)

R FTE: (8.2.2%¢)

T e Ehaeg: - R020




R YA (§.2.2]R)

R 3(3) HTEHIHURE (5.2.230)

TG HeRaeg: - Rog0

























